
:25/02/2008

 : :3

) :5(
v)aq(CH3COOHC = 0.10 mol.L-1

1-.
2-  :4.9 mS.m-1=.

- ) ( .   :mS.m2.mol-1= 35H3O+λ
mS.m2.mol-1= 4.1CH3COO

-λ
3-τ   .
4-PH   .

 ) :5(

Vb = 20 mLSCb

= 0.10 mol.L-1Ca .°C25.

 : = g (Va)    pH = f ( Va )
dVa
dpH-1-

1-.
2-.
3-Qr.
4- .Cb

5- :PKa = 0.0( H3O+ / H2O )PKa( NH4+/NH3)

6- :PH5.1

 /PH7.

 / .
7-.

--4--

1 /3



: )5(
0.01 mA .t = 0 .

KUC .:
-2-   .

141210864210t ( s )
7.06.15.04.02.92.11.00.50.0UC (V )

1-UC.
2- UC = f ( t ).
3-C .
4-  t = 10 s .
5-  t = 12 s .

) :5(
( L = 0.250H , r )E = 6.0 V

 .
1-,
2-  .
3-:= 5.9 vi = 0.4 A , uL

.
4-     ΩR = 10.0 .  
5-      i = f ( t )-3-
6-( RL ) .τR ,r , L .
7-  r .

–3-

2 /3

i(A)

Imax

t(ms)
0.05

5



Va( mL )

0       5        10     15      20       25          30

R

    E                                                               K

dVa
dpH12

10

8

6

PH=f(Va)
4

2

PH

C

–1-

–2-

4.2 – 6.2

3.2 – 4.4

8.1 – 9.8

–4-

3 /3

 : .


